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a)

b)

9]

a)

b)

(9]

input

output

8

—

x 4

—t

"9

input

output

+4

g*

input

output

x 4

Le

Complete the function machines.
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Single function machines (algebra)

/

©
=

input output
c +4 C+y
input output
3n x 4 12n
input output
3n +4 AInty
input output
4a +2 Q\ A
input output
100c¢ <2 50c¢
input output
oL
d +2 =

o The outputs for these function machines are incorrect.

Explain the mistakes and find the correct outputs.
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° Complete the function machines.

a)

b)

)

d)

input

output

3a

+4

3a_and L oare not

lke term s. Should ke e+

input

output

da + 2

—(2a + 2

Not diwvdud He 2

Showhd be da+l

input output
fol==7 = £-7
input output
4h  |—»| -4 |—»| L\ —L1
input output
r+7 | -1 |—»| r~+ b
input output
6r+8 |—»| =6 [—»| L+ )

© White Rose Maths 2019





° Complete the function machines.
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o Complete the function
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o How many different function machines will give an output of 8g + 4?

Draw the function machines.
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